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Trend plot forP3-3 0
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P3-3

BfiE) | GEBATK (7)) | EBE (EFH/HK) = ERE

06:30 138 90.0 & Fn#fe06:30 (KFERES)
07:15 138 90.0 & FiHRe07:15 (KRF{ERLEE
08:00 138 90.0 5 7 E@08:00 (AR F1EEES)
08:45 138 90.0 & FnHfe08:45 (KRFEERES)
09:50 138 90.0 & FnHR09:50 (RFfERLEE)
10:45 138 90.0 & FiHA@10:45 (REA{ERHSE)
11:35 138 90.0 & FfAe11:35 (RPHERSE)
12:20 138 90.0 5 FiHfe12:20 (KRE1EES)
13:10 138 90.0 & FRHA@13:10 (REAERHSE)
14:00 138 90.0 i FnHfe14:00 (KREERSS)
14:55 138 90.0 Gl FiHpe14:55 (KRFEEREE)
16:05 138 90.0 5 FiHA@16:05 (ARFAEREE)
2it]1656.0 (12%) 1080. 0 3ZHKEC: 2000.0, PH: 6.5
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P3-3

BYE) | GEBERTIC (7)) | EBE (BEAH/#) | XS R

06:45 60 90.0 1] Bi%@06:45 (KFERSE)
07:35 60 90.0 ] 1R1%@07:35 (KR FHfERLES)
08:25 60 90.0 1] B318@08:25 (K FH{EREE)
09:15 60 90.0 ] Bi%@09: 15 (KFERSE)
10:00 60 90.0 1] 1%@10:00 (KREERE)
10:45 60 90.0 FA BRi%e10:45 (REFERER)
11:45 60 90.0 | =& Bige11:45 (KRBERE)
13:05 60 90.0 |Z= 21%@13:05 (KFERE)
14:30 60 90.0 A BRi%e14:30 (REEREE)
15:40 60 90.0 | TA 1B1%e15:40 CRAEREE)
23t[600.0 (100%) 900. 0 32 UHKEC: 2000.0, PH: 6.5

EOREBRTK (90. 0) 5FHA (138. 0) N FF, FIRERR T % MREER S E XER

ZRIAKPRIEBLS8. 0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

Mot 2R 56




2208
2100 -
2000 - m e A
1900 -

1800 A

ET (ml/hr/plant)

FRV (ml plant—1)

80

60

40

20

(=2}
o
1

S
o

N
o

6.5

6.0

308

300
200
100

1.0
0.8
0.6
0.4
0.2

1600
1000

500

20

10

80
60

40

0.6

0.4

0.2

P3-3_0, Day=3 (2025-04-01)

31 27271

00 Warning: lcol [FVI',| "FVO'] missing b o

maxM

1

1

4 VI, V0, 'PRY. ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1000

4 683} 750

- 500
- 250

r0
430

- 25

M_E

- 20

- 15

TargetEC=2300. 0,  TargetSetEC=2000. 0 —>—  ECB*10%

X
X
X
3

Warning: lcol ["ECC'] is missing

TargetPH=6.5, TargetSetPH=6.5 —>—  PHB*10%

X
X
X
X
D

Warning: lcol ['PHC'] is missing

.0 Ro=94.0

ByWoFv @D4 06:59: ET=683 Fg=90 o—o——9—8

—_————r———

- 1000

- 500

12522155 (%= | A [ BB | A | BB | BA | BB | A |ZE|ZE|ZE| B | | ZR|SE[(ZR|ZE[(ZR|EE[( K | B

—_—
[ ] | _obs
—@— PPFD obs

— T

o To_obs

missing

°
® L

[ ] —— RH
w o RHo obs

arning: col ['RH obs'] is

o VPD

0.0 0.2 0.4 0.6 0.8 1.

0

FRV (ml d-1)

cumET (ml/plant)



m=480, FV0=0

14.9 ~ 14. 60
14.8
14. 55 A
14.7 A
14. 50
14.6
14. 45 -
14.5 ~
14. 4 M_E 14. 40 A M_E
T T T T T T T T
500 600 700 800 900 480 485 490
m=750,m FV0=0 m=840,m FV0=0
14. 80 14.70 -
14.75 14. 65
14.70 14. 60
14. 65 14. 55
14. 60 M_E 14. 50 M_E
T T T T T T
750 755 760 840 845 850
m=570,m FV0=0 m=660,m FV0=0
26. 10 - MW 26.5 A - MW
26. 05 A
26. 4
26. 00
25. 95 A 26. 3
25.90 A
26. 2
25. 85 A
25. 80 A @ 26.1 4
570 575 580 660 665 670

m=570, FV0=0

14. 90 -

14. 88

14. 86

14. 84 ~

14. 82 -

14. 80

——

M_E

570

575 580

27.5 -

27.0 -

26. 5

26.0 -

25.5

——

M_W

500

T T T
600 700 800

m=750,m FV0=0

900

27.5

27.4 -

27. 3

27.2 -

27.1 4

27.0 -

——

M_W

750

755

760

m=660, FV0=0

14. 90 -

14. 85

14. 80 -

14.75 A

14.70 A

——

M_E

660

6é5 6%0
m=480,n FV0=0

27.8 A

27.7 A

27.6 A

27.5 4

27. 4 -

——

M_W

480

4é5 460
m=840,n FV0=0

27.7 A

27.6 -

27.5 -

27.4 4

27.3 A

——

M_W

840

845

850




hour

10:
10:
11:
11:
12:
13:
13:
14:
15:

0 N W N = O O O

100

80

- 60

45

- 40

45

§_



P3-3

BfiE) | EBATK (7)) | EME (EH/H) | XK R

00:55 60 80.0 = {B31£@00:55 (KR F{ERLEE)
01:50 60 80.0 5 B3%@01:50 (KRFERSE)
02:40 60 80.0 5 B1%@02:40 (KRFERSE)
03:30 60 80.0 & 1B31£@03:30 (KRS
07:25 60 80.0 5 Bi&007:25 (RFERSE)
08:45 60 80.0 5 B1%008:45 (KRFERSE)
09:35 60 80.0 |Z =& 1B318@09:35 (KRFEREE)
10:10 60 80.0 5 i18@10:10 (KRFEREE)
10:45 60 80.0 5 B1%010:45 (REERSE)
11:20 60 80.0 |Z =& Bi&e11:20 (KRBERE)
11:55 60 80.0 (&= Big&e11:55 (KRFERSE)
12:40 60 80.0 (&= BRi%e12:40 (RFEEREE)
13:15 60 80.0 |Z =& Bi&@13:15 (KRBERES)
13:50 60 80.0 |Z = Ri%@13:50 (KRFERES)
14:45 60 80.0 &= BRige14:45 (REEREE)
15:45 60 80.0 |Z=& Bi%015:45 (REERSE)
2i3t[960.0 (16:%) 1280.0 32 3KEC: 1900.0, PH: 6.5

EOREBRTK (60. 0) 5THA (133. 0) N Ff, FIRERR T % MEEZR S E XER

ZRIAKPRIEBRL36. 0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T
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m=480, FV0=0 m=540, FV0=0 m=600, FV0=0

5.2 o uE 14.70 4 15. 00 4 15201 g ¢
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P3-3

BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R

08:10 60 130.0 5 R1%@08:10 (K FfERLES)
08:55 60 130.0 5 B31&@08:55 (K FH{EREE)
09:40 60 130.0 5 B3%@09:40 (KRFERSE)
10:25 60 130.0 5 Bi%@10:25 (REERSE)
11:15 60 130.0 5 Bige11:15 (REEREE)
12:05 60 130.0 5 Bi%012:05 (REERSE)
13:00 60 130.0 &= B318@13:00 (KRFEREE)
14:00 60 130.0 | = Bi%014:00 (REERSE)
15:20 60 130.0 e B1&@15:20 (RFEREE)
21+ 540.0 (90%) 1170.0 3203 KEC: 1300.0, PH: 6.5

EREER IR LR K (0.65 vs 0.55)), AJEER S IAEESREERK
LRGERETC (60. 0) 5714 (236. 0) FF, FIREH T & MG EIRS & XER

BRI\ SLFRGERE33. 0 ml.
HER i Bl RECEIHE SR K.
FE RSB HEREC/PH{ES K, 1]

RERZMMARELR R
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m=480, FV0=0 m=540, FV0=0 m=600, FV0=0

5.2 o ¢ 14. 50 14.70 - o | 1487 o It
15.0 -
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